=R
HYSARU (B E)

ol2i 28yl @
SA-BH - OA(B) - HRAY - BE2 Aol 3= o 2

qES 754,777 737,698 17,079

HE2IHH(ZZS) 316,470 304,420 12,050

I8 24 113,834 109,324 4,510

eIAd| 113,834 109,324 4,510

101 212 dl 96,074 91,564 4,510

01 2= 96,074 91,564 4,510

OAAYDR4E Fou=(27Y) 27,418 26,132 1,286

—55 11,0022 x 12 «10Al 2H+ 123 1,321 1,259 62

—6= 9,383&+7H+10Al 2tx 122 7,882 7,513 369

—7= 8,476 x10Z x10AI 2+ <128 10,172 9,694 478

—8= 7,609 «7H«10Al 2tx 123 6,392 6,092 300

—9= 6,878 «2E x10AI 2tx 122 1,651 1,574 7

OZDIR4EY 8476227254 244128 68,656 65,432 3,204

Jl=2&Hl 202,636 195,096 7,540

Jl=&Hl 202,636 195,096 7,540

201 gEt2Ed| 116,732 114,192 2,540

01 AL 2r2lH] 61,965 60,425 1,540

O&t2 HIEZ2] =l 1,540 0 1,540

02 32244 54,767 53,767 1,000

ONE HTES XY R0 1,000 0 1,000

405 XtatE =l 8,000 3,000 5,000

01 A&t =S FSHI 8,000 3,000 5,000

0sl9) SEIH DA 5,000,008 14 5,000 0 5,000

S A EH| 438,307 433,278 5,029

ANy &« 137,475 132,446 5,029

FUXXEH 84,266 79,237 5,029

101 2124 d| 12,573 7,544 5,029

04 JI2tMIZ2 = 12,573 7,544 5,029

OFIR% 38,1002 *2% * 1502 11,430 6,858 4,572

o= 11,430,000 *10% 1,143 686 457
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SN BAS
M HES AL (H4S)

Ehol: ol 2yl CEERE]
SN -EHH . (B) - MPAY - BE2 O &t 04 7|5 o HRz2
W3 598,646 553,636 45,010
HE2I LU (H>T) 227,591 202,581 25,010

I8 24 79,873 76,863 3,010
o1 21H| 79,873 76,863 3,010

101 212 dl 64,113 61,103 3,010

01 2= 64,113 61,103 3,010
OAAT24E FU=(18Y) 18,342 17,481 861

—55 11,0022 x 12 «10Al 2H+ 123 1,321 1,259 62

—6= 9,383 x5H x10AlI2t+ 123 5,630 5,366 264

—7= 8,476 *6B «10Al 2tx 123 5,086 4,847 239

—8= 7,609 «6H «10Al 2tx 123 5,479 5,222 257

—92 6,878« 1E *10AI 2tx 122 826 787 39
OZDID4EY  8,476F+18*25AI 2122 45,771 43,622 2,149
Jl=2&Hl 147,718 125,718 22,000
Jl=&Hl 147,718 125,718 22,000
201 gEt2Ed| 71,302 69,302 2,000

01 AL 22 bl 45,558 44,558 1,000
OLt=E HI&ZS S 1,000 0 1,000

02 2324l 25,744 24,744 1,000
ONE NgEs 1Y R0 1,000 0 1,000

405 XtatE =l 24,000 4,000 20,000

01 HME =SZHSHI 24,000 4,000 20,000

O= A 12,000 0 12,000
O3 &0 (1set) 8,000 0 8,000

M5 ALEEH| 350,404 330,404 20,000
KIS0 2 AL 268,328 248,328 20,000
A2 FF02AMH 268,328 248,328 20,000
401 A& HIZ 2 CHHI 261,728 241,728 20,000

01 Al bl 260,000 240,000 20,000
OFEAL A2 (F HEH)EH(102.9m) 20,000 0 20,000
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SN

£=8
Y WH2AAY (BSS)

ool ol 2oyl R
SA B HRA(SH) - MRAY - B 0l & o o1& o HREZ
28 591,292 556,808 34,484
HY2AHU(E=2) 271,016 249,532 21,484
QI 2 105,615 102,271 3,344

o1 21H| 105,615 102,271 3,344
101 @124 H| 88,455 85,111 3,344
01 2= 71,232 67,888 3,344

OANzZt22R2aE HHZ(20Y) 20,376 19,420 956

—58 11,0023 x1H *10Al 2t+ 128 1,321 1,259 62

—62 9,383 x5H x10AlI2t+ 123 5,630 5,366 264

72 8,4763 «7H+10AI 2t+ 12 7,120 6,786 334

—8= 7,609 «6H «10Al 2tx 123 5,479 5,222 257

—92 6,878 x1H+«10Al 2tx 123 826 787 39
Oxzu2e=¢ 8,476R x20H x25A| 2+ <128 50,856 48,468 2,388
Jl=2Z4l 165,401 147,261 18, 140

Jl=&dH| 165,401 147,261 18, 140
201 ZEt2FH| 85,321 83,181 2,140
01 AtR2tel 44,281 43,141 1,140

OLt=E HI&ZS S 1,140 0 1,140

02 2324l 41,040 40,040 1,000
OMZNBEE X SR 1,000 0 1,000
301 Et2 a3z 2,000 0 2,000
10 AL HIEA S 2,000 0 2,000
OXHZABAHESESH S)FA 2,000 0 2,000
405 KtatE S| 20,000 6,000 14,000
01 MY SZHSHI 20,000 6,000 14,000
Og I 2,000,000 = 1CH 2,000 0 2,000
OZ = A 12,000,000 = 1CH 12,000 0 12,000
=S M3 320,276 307,276 13,000

AxSHE As 62,088 49,088 13,000

CRHESZE 28,851 18,851 10,000
206 M =4l 14,000 4,000 10,000
01 MHZ 4l 14,000 4,000 10,000

OJzstd & 2224 257¢ 10,000 0 10,000

SXsl2tze] 7,520 4,520 3,000
201 L2 7,520 4,520 3,000
01 AFR 2t eld| 2,000 1,000 1,000

OMHM,BA2EF? 5 2B 2,000 1,000 1,000
02 2244 5,520 3,520 2,000
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SAM: HOtH
Ha: SIS A2 (H0H)
col: olzi2gy| CCRED
SA-E . S(E) - MEAY - BES 01l &4 24 pJE-T HIRE
CHOH 447,697 428,053 19,644
HE 2L ZHI(CHOHH) 172,068 158,424 13,644
I8 24 59,485 57,311 2,174
2d| 59,485 57,311 2,174
101 212 dl 46,325 44,151 2,174
01 2= 46,325 44 151 2,174
OANZ2 R+ T HZ(13Y) 13,268 12,646 622
—55 11,0022 x 12 «10Al 2H+ 123 1,321 1,259 62
—6= 9,383 *4H x10AlI 2t+12& 4,504 4,293 211
—7= 8,476 x3H «10Al 2tx 123 3,052 2,909 143
—8= 7,609 «3H «10Al 2tx 123 2,740 2,611 129
—92 6,878 «2E x10Al 2tx 122 1,651 1,574 7
Oxl2f=H 8,476R «13H +25A| 2+ <128 33,057 31,505 1,552
24| 112,583 101,113 11,470
=34 112,583 101,113 11,470
201 gEt2Ed| 62,327 50,857 11,470
01 AR 2telH] 37,164 33,894 3,270
OFDAYLSHEHBLARE
200,000& «12& 2,400 0 2,400
o4 Hlyae 2| 870 0 870
02 2244 25,163 16,963 8,200
OttE HigEs g S8 1,000 0 1,000
OFUAYLHSHEHI LY +E23
600,000& «12& 7,200 0 7,200
At ZHI 275,629 269,629 6,000
HY A 42,465 36,465 6,000
Y SFF I 24,978 18,978 6,000
206 M =4l 14,000 8,000 6,000
01 =4 14,000 8,000 6,000
OFAALsHE FHTH(ER) 6,000 0 6,000
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2N 2
HH: HNSAFY(RH)

el o2yl (Sl #)

SN -EHH . (B) - MPAY - BE2 713 o HRE2

¢ 455,789 426,237 29,552

HY2AHH(REH) 168,325 151,273 17,052

QI 2 59,660 57,478 2,182

o1 21H| 59,660 57,478 2,182

101 @124 H| 46,500 44,318 2,182

01 2= 46,500 44,318 2,182

OAIZ ol (139)) 13,443 12,813 630

—55 11,0023 x1H *10Al 2t+ 128 1,321 1,259 62

—6= 9,383 *4H x10AlI 2t+12& 4,504 4,293 211

—7= 8,4763 *3H »10AI 2t+ 12 3,052 2,909 143

—8= 7,609 «5H «10Al 2tx 123 4,566 4,352 214

Ox2==> 8,476 «13H +25A| 2+ 128 33,057 31,505 1,552

24| 108,665 93,795 14,870

=3l 108,665 93,795 14,870

201 2 Et2FH 53,509 51,639 1,870

01 AR 2t 34,510 33,640 870

OIET b 870 0 870

232329 18,999 17,999 1,000

Out= ol =50 1,000 0 1,000

405 KtobH 16,900 3,900 13,000

01 Xhatsd 16,900 3,900 13,000

OF A 237l 4,000,000 *3CH 12,000 0 12,000

O2HA 1,000 0 1,000

QEH AIZZH 287,464 274,964 12,500

HEMH 49,853 37,353 12,500

Y 3 EFE 25,255 12,755 12,500

206 M= 4l 15,500 3,000 12,500

01 =4l 15,500 3,000 12,500

oxzs T8 U BN S 15,500 3,000 12,500
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S 22
Ha: #YLAAL(2LH)

col: olzi2gy| CCRE!
SA - SR(E) - HRAY - BES 01l &4 24 pJE-T HIRE

=4 457,830 448,198 9,632

HE2IHH(S2H) 173,449 163,817 9,632

I8 24 59,660 57,478 2,182

o1 21H| 59,660 57,478 2,182

101 212 dl 46,500 44,318 2,182

01 2= 46,500 44,318 2,182

OANZAZ R4 HAUZ(13Y) 13,443 12,813 630

— 59 11,0022 x 12 «10Al 2H+ 123 1,321 1,259 62

— 65 9,383 *4H x10AlI 2t+12& 4,504 4,293 211

- 7= 8,476 x3H «10Al 2tx 123 3,052 2,909 143

— 8= 7,609 «5H «10Al 2tx 123 4,566 4,352 214

Oz=l2f=¢ 8,4763 13 *25A1 2tx 128 33,057 31,505 1,552

Jl=2dHl 113,789 106,339 7,450

Jl=&H| 100,289 93,339 6,950

201 gEt=24Ed| 52,633 50,763 1,870

01 AtR2tel 33,296 32,426 870

OuE H42e S| 870 0 870

02 2324l 19,337 18,337 1,000

Ot NZEE XY SR 1,000 0 1,000

405 XtHakF S 9,400 4,320 5,080

01 HMH =S HSHI 9,400 4,320 5,080

Ozos g+ 200,000& *9H 1,800 720 1,080

OHglislat ALt wH 4,000 0 4,000

SE=EY 29 13,500 13,000 500

201 gEt2Ed| 7,500 7,000 500

01 AR 2telH] 1,500 1,000 500

OZ2==2=2F MM, 84532 22F 1,500 1,000 500
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SN B
HE: #H2YAY (2HH)

chel: ol 2| (e @8
SN-EHH . SH(BH) - HPAY - BE2 Ao )= e 2t

2N 462,012 436,871 25, 141

HHSHAH (2H) 174,065 165,924 8,141

oIz 2| 63,069 60,728 2,341

o121 b 63,069 60,728 2,341

101 01214 49,869 47,528 2,341

01 24 49,869 47,528 2,341

ONZ2R4E HoUR(143) 14,269 13,600 669

—53 11,0022 12104l 2H+ 122 1,321 1,259 62

—62 9,383% *4% +10A| 2t 122 4,504 4,293 211

—72 8,47621 %321 ¥ 10A| 24+ 122 3,052 2,909 143

—83 7,600%1 %521 ¥ 10A| 24+ 128 4,566 4,352 214

—92 6,8782 %12 «10AI 2+ 122 826 787 39

OZB224Y 8,4762 142§ x25\] 24+ 128 35,600 33,928 1,672

CEE] 110,996 105,196 5,800

p[EE] 110,996 105,196 5,800

201 YEr2gy| 54,008 52,108 1,900

01 ALR 2l 36,341 35,441 900

Otz Bla2e S| 900 0 900

02 232l 17,667 16,667 1,000

Otz Hges 1Y REH 1,000 0 1,000

405 Xt &HF S HI 15,900 12,000 3,900

01 ML SEH S| 15,900 12,000 3,900

OMFAS ZXES 98 LESTY 1,500 0 1,500

OMYAR FAS 98 YORME 7 2,000 0 2,000

OMEAL 2XS 95 A2 (HYE) 7 400 0 400

2N ALY 287,947 270,947 17,000

Z0I5H8 D 2 S A= 10,500 8,500 2,000

REOH Z &1 ALY 4,200 2,200 2,000

301 LA 2,000 0 2,000

10 SAFAIEI 24 2 2,000 0 2,000

ORNHZABA(S4MS HBHA) S F2 2,000 0 2,000

NEBIENS:: 243,624 228,624 15,000

ARBHFO AN M 243,624 228,624 15,000

401 Al EHIL 2 TH b 236,584 221,584 15,000

01 Al &bl 235,000 220,000 15,000

OPEA 82 222 HY| 15,000 0 15,000
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2utol
BESAAY (2LE)

oIzt 2oy (S A
SAN-ZH-SA(FA) - NFAY - BES I & HnE2

e 675,693 496,416 179,277

HY 2G| (2EH) 186,787 182,510 4,277

ol 2| 80,436 78,089 2,347

ol 24| 80,436 78,089 2,347

101 214l 67,196 64,849 2,347

01 2= 49,973 47,626 2,347

OAZte224Y FHZ(149) 14,373 13,698 675

—58 11,0023 x 1B = 10Al 2t 12E 1,321 1,259 62

—62 9,383 *4H «10A| 2+x 123 4,504 4,293 211

—7= 8,476 3 x4H x10A| 2Hx12& 4,069 3,878 191

—8= 7,609% *4H x10Al 2tx 122 3,653 3,481 172

—9= 6,878 x1G»10AI 2tx 12 826 787 39

Oxzu2e=¢ 8,476 x14B +25A| 24+ 123 35,600 33,928 1,672

Jl2ZHl 106, 351 104,421 1,930

Jl2Z | 106, 351 104,421 1,930

201 B2 HH| 60,263 58,333 1,930

01 AR 2teld| 37,512 36,582 930

Od4tE HI&22 S 930 0 930

02 E=2ZHl 22,751 21,751 1,000

Ottt netes g RFUH 1,000 0 1,000

& At B3I 488,906 313,906 175,000

SOHE ALY 251,864 226,864 25,000

A2 FF0A e 251,864 226,864 25,000

401 A& Bl 2 CHHI 246,584 221,584 25,000

01 Al & Hl 245,000 220,000 25,000

oS¢z & gz s 160,000 40,000 120,000

OHUMED 324 B3 At 20,000 0 20,000

OzH HA =2 SSsHEA B 5,000 0 5,000

OFU=sJ ALY 0 120,000 A120,000

—od SISEHSH X EX3A 0 50,000 250,000

—og SI=ESE SSAIE dXSA 0 20,000 220,000

—Se|EM FXNE ZESAM(EX0HLHIZE) 0 50,000 50,000

& 2FEE =N 194,224 44,224 150,000

g 32 Le A 194,224 44,224 150,000

401 A& HIZ 2 CHYI 150,000 0 150,000

01 A& HI 150,000 0 150,000

Oz=d SI=E3F X EXSA 50,000 0 50,000

Ozg SISEZSH 2SAE EX3A 20,000 0 20,000
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SN YA
HE: HNSHFY ()
cHol: ozl 2oyl (ol @2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 713 o HRE2
R gl 572,688 501,057 71,631
HY2AHH (FarH) 216,619 199,988 16,631
QI 2 88,227 85,576 2,651
o1 21H| 88,227 85,576 2,651
101 @124 H| 73,707 71,056 2,651
01 2= 56,484 53,833 2,651
ONAS2RLY FU2(16Y) 15,799 15,058 741
—58 11,0023 x1H *10Al 2t+ 128 1,321 1,259 62
—6= 9,383 *4H x10AlI 2t+12& 4,504 4,293 211
72 8,4763 x1H »10AI 2t+ 12 1,018 970 48
—8= 7,609 «8H «10Al 2tx 123 7,305 6,962 343
—92 6,878 x2H «10A| 2tx 123 1,651 1,574 7
OZW2L4Y 8476216 =25 24+ 122 40,685 38,775 1,910
Jl=2Z4l 128,392 114,412 13,980
Jl=&dH| 128,392 114,412 13,980
201 ZEt2FH| 65,140 63, 160 1,980
01 AR 22l 41,638 40,658 980
O Haze Szl 980 0 980
02 2324l 23,502 22,502 1,000
OME HYEE XY R 1,000 0 1,000
405 AHotE = HI 16,500 4,500 12,000
01 AL EZFHSHI 16,500 4,500 12,000
ORIEEN SAD 7Y 2,000 0 2,000
AHH AN B HI 356,069 301,069 55,000
HOHE ALY 302,008 247,008 55,000
A2 FF0A e 302,008 247,008 55,000
401 A& HIZ 2 CHYI 296,728 241,728 55,000
01 Al€Hl 295,000 240,000 55,000
OYMPARL AT THAZ EHN 10,000 0 10,000
AP SSYANAZE FHD & (AEO
u) 5,000 0 5,000
OSE22ED 55 10,000 0 10,000
OH5E S A 10,000,002 *2H 2 20,000 0 20,000
OEte Sdz adAld 10,000 0 10,000
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S P
HE: HNSYAY (HEH)

cHol: ol Y| (B9 &2
SA BB H(BH) - MBAY - B2 O A+ 24 J1E o HRs2

B o 549,854 522,409 27,445

B H 2o Y| (U ) 219,496 212,461 7,085

oz 2 gyl 94,283 91,308 2,975

o121 Y| 94,283 91,308 2,975

101 1248 79,643 76,668 2,975

01 24 63,373 60,398 2,975

OAIRISI224E Fai=(18Y) 17,602 16,776 826

—53 11,0028 %1% *10Al 2122 1,321 1,259 62

—63 9,38321 x4 *10A| 2t 122 4,504 4,293 211

-73 8,4762 x4Z *10AI 24128 4,069 3,878 191

~82 7,6002 x4 *10A| 24122 3,653 3,481 172

-92 6,87821 x4 * 10A| 2t* 122 3,302 3,147 155

—103 6,27221x 1 *10AI 2t 122 753 718 35

Ozxn2RLY 8,4762 x 182 25 A| 24122 45,771 43,622 2,149

p[CEL] 125,213 121,153 4,060

=Bl 125,213 121,153 4,060

201 L2 Y| 67,629 65,569 2,060

01 AL 2r2lHl 42,309 41,249 1,060

OME 422 2l 1,060 0 1,060

02 B2 25,320 24,320 1,000

Ot HLES XY BB 1,000 0 1,000

405 THAHE S| 8,000 6,000 2,000

01 KAt U S EH S| 8,000 6,000 2,000

O#AS HET 7 10,0002 202} 2,000 0 2,000

{50 AL 330,358 309,948 20,410

RxSY A 56,907 43,097 13,810

c2 BRI 32,899 19,089 13,810

101 Q1244 14,599 10,789 3,810

VEIESTEES =T 14,599 10,789 3,810

O 24 ZHD| 56,9202 152 *7< 5,977 3,416 2,561

O N SALE =8 Fl 40,3602 +62 102 2,422 1,211 1,211

OMTRE 2 14,454, 0002 * 1% 145 107 38

206 T 2| 17,500 7,500 10,000

01 T2l 17,500 7,500 10,000

O #AY ZH 22 S8 29 2,500 2,500 10,000

RIS AteS 262,101 255,501 6,600

BN =Y 15,093 8,493 6,600

201 Yut2 HH| 10,200 3,600 6,600
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fA Ed
X EH:
o T

A8
SRl NS At (98

SA B HRA(SH) - MRAY - B 0] & 08 01 o HIREY

01 AR 2t eld| 3,000 1,200 1,800
OTUHOHE X (FEt2 3) & 22X sza

el (3HEX, b S) 250,000& «12& 3,000 1,200 1,800

02 2324l 7,200 2,400 4,800
OTUONE X (Et2 3) & 2ZXsEs A

J, &==EAMEE 600,000& = 12& 7,200 2,400 4,800
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SN e
LR TEETICET)
el o2yl (el &2
SH-EH . C(BH) - NRAY - BES Off &k [ =)e bRz
s 445, 126 433,207 11,919
HMSARY (L) 205,712 198,793 6,919
ol 2y 56,523 51,884 4,639
o124l 56,523 51,884 4,639
101 121t 42,843 38,204 4,639
01 24 39,796 35,300 4,496
OA2telaR4sgy Fu=(11Y) 11,825 10,691 1,134
—53 11,0028 %12 10AI 2t+122 1,321 1,259 62
—62 9,383 *4% * 10A| 2t 122 4,504 4,293 211
—82 8,476 x5 * 10A] 24+ 122 5,086 4,352 734
—92 7,600 %1% *10A] 24+ 122 914 787 127
OZWIL4Y 84768 +11Z25A 24+ 122 27,971 24,609 3,362
02 JIEHE B4 3,047 2,904 143
OZAE(1Y) 3,047 2,904 143
—AR DR A (A=)
7,252 124+ 10A| 2 1222 871 830 41
—ED2R4Y(FY)
7,2528 12442541 2 122 2,176 2,074 102
ol =2 149, 189 146,909 2,280
=2l 149, 189 146,909 2,280
201 YBr2 | 110,109 108,269 1,840
01 AtR 22l 76,097 75,257 840
Otz HIa2e S| 840 0 840
02 T2 34,012 33,012 1,000
OtE HZES I REH 1,000 0 1,000
405 T4+ 3 S| 440 0 440
01 AU SEH S| 440 0 440
ODIRA AL 40,0002+ 1CH 440 0 440
LEIO AR I 239,414 234,414 5,000
BTN 200,328 195,328 5,000
A2 FFOHANM 186,296 181,296 5,000
401 A& HIL 2 THY| 186,296 181,296 5,000
01 Al&H] 185,000 80,000 5,000
OoABAYN ARA S &5
5,000,0002 174 2 5,000 0 5,000
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